
6

6

bottom



6

6

7

top



Number 7 is 
located in the 
middle

6

6

7



M5*6 fastening screw
bottom



M5*6 fastening screw
top



Ⅰ



8

7



Ⅱ



13

14



13

14



M5*6 fastening screw
13

14



13

14

Ⅲ



12

11



12

11



M5*6 fastening 
screw

12

11



12

11

Ⅳ



16

16





M5*6 fastening 
screw



Ⅴ



1

2

3





4

5









M5*6       
fastening 
screw





Attach EVA foam



Ⅵ



19

19

20



19

19

20



M5*6       
fastening 
screw

19

19

20



21

21

19

19

20



19

19

20
21

21



22

22

19

19

20
21

21



19

19

20
21

22

21

22



M5*6 fastening 
screw





M5*20 flat round head screw
No distinction between front and 
back



Ⅶ



Ⅷ



Ⅰ



9

Sink hole facing 
outward



Ⅱ

Sink hole facing 
outward

Sink hole facing 
outward



M5*6 fastening screw





10



Sink hole 
facing 

outward

Ⅰ



M5*6 fastening 
screw



Ⅲ



M4*8 flat round head screw

M4*16 flat round 
head screw



M4*8 flat round 
head screw

M4*16 flat round 
head screw



15

Ⅳ





M4*8 flat round head screw

M4*16 flat round 
head screw



M4*8 flat round 
head screw

M4*16 flat round 
head screw



M5*6 fastening 
screw





17

Ⅴ







Red: M5*6 fastening screw

Blue: M4*8 Flat round head 
screw



M5*6 fastening 
screw



M5*6 fastening screw



M4*8 Flat round 
head screw



M4*8 Flat round 
head screw



M5*6 fastening 
screw





Ⅵ



M5*6 fastening screw

M4*16 Flat round 
head screw



M5*6 fastening screw

M4*16 Flat round 
head screw



An additional threaded hole 
is located at the front

18

18

An additional 
threaded hole is 

located at the front



M4*20 countersunk 
screw





M4*6 Flat round 
head screw







A side

A
B 

side

B

Aluminum 
profile 
groove

Fixed 
block slot

Aluminum 
profile 
groove
Fixed 

block slot

Ⅶ





M4*10 Cylindrical 
head screw





Aluminum profile 
end cap





EVA 
cotton



The entire 
right side

The entire 
left side

The entire 
back

Apply double-
sided tape





Ⅷ

M4*50 flat round 
head screw
 and Nut



Install wire 
protection 

sleeve



Install wire 
buckle



TopApply double-
sided tape



Complete


